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N(v) = {u ∈ V (G)|uv ∈ E(G)}, N [v] = N(v) ∪ {v}, A2B20 û v
��È2C2D�´2E2C2D�£�%
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û
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x ∈ S ⊆ V (G) , .�/�0 x
< ?�¯

S
��s�t�C�D & ��

NG[x] −NG[S − x].
¿�À .�/ -�û pnG(x, S). f ³ v ∈ V (G)
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S
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g�.�/�0�u û S
��v�w�C�D�£���¹

S 0 û�"�x���¾¥Ñ�� ∀ x ∈ S,
�

pnG(x, S) 6= ∅. .�/�0 "x��
S 0 û�m�×���¾ f S

û�"�x���� 6 û�i���"�x�����k�l���£
G
������m�×�"�x�����o�×
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G, ∀ x, y ∈ V (G),
�

ir(Guv) ≥ ir(G)/2,
��ì�� 6 É�����������£

���
2
þ��

G, ∀ x, y ∈ V (G),
�

1). IR(G) ≥ IR(Guv) ≥ IR(G) − 2. 2). ��f xy ∈ E(G), g IR(G/xy) ≥ IR(G) − 1.Í���¼2�2����Þ��
G
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G,∀ u, v ∈ V (G)
�

(1) γ(Guv) ≤ γ(G). (2) γ(Guv) = γ(G) � γ(Guv) = γ(G) − 1.���
(1)
%

D
û

G
�����

γ-
õ�ö���£

���
1 u, v ∈ D,

@
D1 = D−{u, v}∪xuv. g D1

û
Guv

����õ�ö���£ *��
|D| = |D1|+1.¡�¢

γ(Guv) ≤ |D1| = |D| − 1 = γ(G) − 1.�2�
2 u ∈ D, v ∈ V − D.

@
D1 = {D − u} ∪ xuv . g D1

û
Guv

����õ�ö2��£�*2�
|D| = |D1|,

¡�¢
γ(Guv) ≤ |D1| = |D| = γ(G)���

3 v ∈ D, u ∈ V − D.
­êþ 0 ��£���¤ 2 ¥ ¡�¢ � γ(Guv) ≤ γ(G).���

4 u, v ∈ V − D. g D ¦ û Guv

����õ�ö���£ ¡�¢
γ(Guv) ≤ |D| = γ(G).­êÍ�à���§�� ¥ (1)

·���£
(2)
­

(1) ¥ γ(Guv) ≤ γ(G), ¨ ¡ ¾ � � γ(Guv) = γ(G), � � γ(Guv) ≤ γ(G) − 1. f
γ(Guv) 6= γ(G).

��à�çéè
γ(Guv) = γ(G) − 1,

{ g�g � γ(Guv) ≤ γ(G) − 2.
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�
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õ�ö���£ g � xuv ∈ D1 ��© xuv ∈ V (Guv) − D1,

��à A ����§���£���
1 xuv ∈ D1. g D = {D1 − xuv} ∪ {u, v}

û
G
����õ�ö���£�*��

|D| = |D1| + 1 ¨¡
γ(G) ≤ |D| = γ(Guv) + 1 ≤ γ(G) − 2 + 1 = γ(G) − 1. ª�« £���

2 xuv ∈ V (Guv)−D1. g D1∪{u},D1∪{v}, � D1 ¬ © ����û G
����õ�ö���£ f û�î

)�© @ D = D1∪{u}, � D = D1∪{v}. g γ(G) ≤ |D| = |D1|+1 = γ(Guv)+1 ≤ γ(G)−2+1 =
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γ(G) − 1. ª�« £ f û�� ©�g @ D = D1,
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γ(G) ≤ |D| = |D1| = γ(Guv) ≤ γ(G) − 2. � ���� ª�« £± Í�����¾�²�¢�·���£
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G,u, v ∈ V (G). g γ(Guv) = γ(G) − 1⇐⇒ ´ Ì G
�����

γ-
õ�ö��

D

� � u, v ∈ D, � � |{u, v} ∩ D| = |{u, v} ∩ (V − D)| = 1,
�

pnG({u, v} ∩ D, D) = {u, v} ∩ D.��� µ�¶�·�£
γ(Guv) = γ(G) − 1.

@
D1

û
Guv

���
γ-
õ�ö���£ g � |D1| = γ(G) − 1.¸ ¥ xuv ∈ D1 ��© xuv ∈ V (Guv) − D1,

��à A ����§���£���
1 xuv ∈ D1. g D = D1−{xuv}∪{u, v}

û
G
� � õ ö�� £ ­ � �

3 γ(Guv) = γ(G)−1£
|D| = |D1| + 1. ¨ ¡ D

û
G
���

γ-
õ�ö���£¥ì ¢ �

u, v ∈ D.���
2 xuv ∈ V (Guv) −D1.

ì ¢
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����û
G
����õ�ö���£ 6�¹ %�û

D = D1 ∪ {u}.
­ê���

3 γ(Guv) = γ(G)− 1
£

|D| = |D1|+ 1, ¨ ¡ D
û

G
���

γ-
õ�ö���£kì

¢
|{u, v} ∩ D| = |{u}| = |{u, v} ∩ (V − D)| = |{v}| = 1,

�
pnG({u, v} ∩ D, D) = pnG(u, D) =

{u} = {u, v} ∩ D.º�» · %
D
û

G
���

γ-
õ�ö���£

1). f u, v ∈ D, g D1 = {D − {u, v}} ∪ {xuv}
û

Guv

����õ�ö���£¥ì ¢
|D1| = |D| − 1,

¨ ¡ γ(Guv) ≤ |D1| = |D| − 1 = γ(G) − 1.
­ê���

3 γ(Guv) = γ(G) − 1.

2). f |{u, v} ∩ D| = |{u, v} ∩ (V − D)| = 1,
�

pnG({u, v} ∩ D, D) = {u, v} ∩ D.
62¹

%
u ∈ D, v ∈ V − D.

@
D1 = D − {u}. g D1

û
Guv

����õ�ö���£��
|D1| = |D| − 1. ¨ ¡

γ(Guv) ≤ |D1| = |D| − 1 = γ(G) − 1.
­ê���

3 γ(Guv) = γ(G) − 1.± Í�����¾�²�¢�·���£
­ê���
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1
�

G 0 û�Å�Æ�����õ�ö���£ f ∀ u, v ∈ V (G)
�

γ(Guv) = γ(G) − 1.�
G 0 û�Å�Æ�õ�ö���£ f ∀ u, v ∈ V (G)

�
γ(Guv) = γ(G).

¨ ¡ ­ ã�ä 4
Ø�¦���Ý�����¼���£

���
5
�

G
û�Å�Æ�����õ�ö��

⇐⇒
þ

∀ u, v ∈ V (G)
! ´ Ì G

�����
γ-
õ�ö��

D ��
u, v ∈ D � � |{u, v} ∩ D| = |{u, v} ∩ (V − D)| = 1,

�
pnG({u, v} ∩ D, D) = {u, v} ∩ D.Ð�Ñ�½

p4

û�Å�Æ�����õ�ö���£kë�¾
K1,n(n > 0)

û�Å�Æ�õ�ö���£ f G
û�ß�¿���£ g�.�/�Àû���Å�Æ�õ�ö���������£¥ÿ�ë�����ÁÃÂÅÄ2r�Æ2Ç��2���2È��2���

γ(G) = n(n > 0)
��Å�Æ����

õ�ö���¾¥Å�Æ�õ�ö�����¼�½�É�¢�£
���

6 f G
û�Å�Æ�õ�ö��

⇐⇒ γ(G) = 1.��� º�» ·�£ f G
û�ß�¿�������¾ g ²�¢�ü�Ä�·���¾ ¨ ¡�6�¹ % G

6 û�ß�¿�������£
%

x
û

G
�����

γ-
õ�ö���£�%

u, v ∈ V (G). f u, v
"���û

x, g x ¦ û Guv

�����
γ-õ�ö���£ f u, v

����û
x, g ��²�³ xuv

û
Guv

��õ�ö���£ ¨ ¡ γ(G) = γ(Guv) = 1. Ê G
û

Å�Æ�õ�ö���£
µ�¶�·

. f γ(G) 6= 1 ,
Ø�%

γ(G) ≥ 2,
@

D
û

G
��� �

γ-
õ ö�� £ ­

|D| ≥ 2,
Ø�Ë

u, v ∈ D,@
D1 = D − {u, v} ∪ xuv , g D1

û
Guv

��õ�ö���£�h��
γ(Guv) ≤ |D1| = |D| − 1 = γ(G) − 1�

G
û�Å�Æ�õ�ö�� ª�« ¾ ¨ ¡ γ(G) = 1­êÍ�à���¼�� ¥�Ì�Í ��������õ�ö�÷�×�¯ 1, g�u ����¹���²�³�þ�Î���õ�ö�÷�Ï�Ð 1.

û ¡
Å�Æ�����õ�ö�����õ�ö�÷�×�¯

1.
��à�Ü�Ý��

G
��õ�ö�÷�û

2
��Ñ�Ò�����Å�Æ�����õ�ö���¼�½�£

���
7
%

G
��õ�ö�÷�û

2
��Ñ�Ò���¾ f G

û�Å�Æ�����õ�ö��
⇐⇒ G ∈ {2K1, P4, C4}.
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��� Ó A ��ü�Ä�·���£���ç�Ô Í ��£@
D = {u, v}

û
G
�����

γ-
õ�ö���£

�2�
1 uv ∈ E(G).

­
G
û2Ñ2Ò'��¾ ¨ ¡ N(x) ∩ N(y) = ∅.

ì ¢ %
pnG(u, D) =

{u1, u2, · · · , um}, pnG(v, D) = {v1, v2, · · · , vn}, � Ó m ≥ 1, n ≥ 1.
ì ¢ .�/�Õ�Ö m = 1, n = 1.{ g ­êþ 0 � 6�¹ % m ≥ 2.

­
xuu1

Ì
Guu1

Ó 6 õ�ö
{v1, v2, · · · , vn}

Ó(i�j���³�£
v
Ì

Gu1u2Ó 6 õ�ö
{u2, · · · , um}

Ó(i�j���³�£Ø×�Ù�Ú�Û�·���£Ø��¦
γ(Guu1

) = 2.
�

γ(Guu1
) = 1 ª�« £

Ê m = 1, n = 1. f u1v1 ∈ E(G) g G
û�Ü

C4,
{ g G

û�½
P4.�2�

2 uv /∈ E(G).
ì ¢ %

pnG(u, D) = {u, u1, · · · , um}, pnG(v, D) = {v, v1, · · · , vn},

N(x)∩N(y) = {w1, w2, · · · , wk} � Ó m ≥ 0, n ≥ 0, k ≥ 0.
­

G
û�Ñ�Ò�� ¾ ¨ ¡ {u1, u2, · · · , um, w1,

w2, · · · , wk}
£

{v1, v2, · · · , vn, w1, w2, · · · , wk}
Ì

G
Ó(����£¥ì ¢ Ô��

m ≤ 1, n ≤ 1, k ≤ 1. ÝÞ çéè
m ≤ 1, n ≤ 1,

­êþ 0 � 62¹ % m ≥ 2. � ­ γ(Guu1
) = 1. ¨ ¡ � x ∈ V (Guu1

)
õ�ö

Guu1

������³�£ ­
wi

Ì
Guu1

Ó 6 õ�ö
{u2, · · · , um, v1, · · · , vn}

Ó(i�j���³�£ß×�Ù�Ú�Û�·���£
��¦�³

x ∈ {xuu1
, v}.
ì�à

uv ∈ E(G) � vu1 ∈ E(G) ª�« £ f k ≥ 2,
­

γ(Gw1w2
) = 1

��î�à
p�q�r�Ø�á�Ý

{xw1w2
}
û

Gwiwj

��õ�ö���£â£
w1 � w2

�
{u1, u2, · · · , um, v1, v2, · · · , vn}

< C
ã £ ª�« £ f k = 0,

­
G
û�Å�Æ�����õ�ö���¾ g m, n

Ë
{0, 1}

Ø��
G
û

2K1. f k = 1,
­

Gû�Å�Æ�����õ�ö���¾
m, n

6 Ø�ä ��¢ Ë
0,
´

1.
ì�à

G
û

P4.å��
8[8]

�
G
��õ�ö��

D
û�m�n�õ�ö��

⇐⇒∀x ∈ D, pnG(x, D) 6= ∅.þ�¯��
G
��Í�õ�ö�÷

Γ(G) .�/ ������
9
þ��

G,∀ u, v ∈ V (G)
�

(1) Γ(Guv) ≤ Γ(G).

(2) Γ(Guv) = Γ(G) − 1. � Γ(Guv) = Γ(G).���
(1)
%

D
û

Guv

���
Γ-
õ�ö���¾ g D

û�m�n���£ ­(æ ä
8
�

∀x ∈ D, pnGuv
(x, D) 6=

∅, ���
1 xuv ∈ D. g D1 = D − {xuv} ∪ {u, v}

û
G
����õ�ö���£

ç ���
1 pnG(u, D1) = ∅,pnG(v, D1) = ∅.

ì ¢
D1 − v

û
G
����õ�ö���*��

pnG(u, D1 −

v) = {v}. � ∀x ∈ D, pnGuv
(x, D) 6= ∅, g ∀x ∈ D1 −{u, v}, pnG(x, D1 − v) 6= ∅.

­(æ ä
8D1 − vû

G
��m�n�õ�ö���£
ç ���

2 pnG(u, D1) = ∅,pnG(v, D1) 6= ∅.
ì ¢

D1−u
û

G
��õ�ö���£ ­

pnG(v, D1) 6= ∅

¥ pnG(v, D1 − u) 6= ∅. � ∀x ∈ D, pnGuv
(x, D) 6= ∅, g ∀x ∈ D1 − {u, v}, pnG(x, D1 − u) 6= ∅.­(æ ä

8D1 − u
û

G
��m�n�õ�ö���£

ç ���
3 pnG(u, D1) 6= ∅,pnG(v, D1) = ∅.

­êþ 0 ��£�l���¤ 2 ¥ D1 − v
û

G
��m�n�õ

ö���£
ç �2�

4 pnG(u, D1) 6= ∅,pnG(v, D1) 6= ∅.
­

∀x ∈ D, pnGuv
(x, D) 6= ∅, g ∀x ∈ D1 −

{u, v}, pnG(x, D1) 6= ∅
­(æ ä

8D1

û
G
��m�n�õ�ö���£

þ�¯�î ¬ ¸���� Γ(G) ≥ |D1| − 1 = |D| = Γ(Guv),
����¸����

Γ(G) ≥ |D1| = |D| + 1 =

Γ(Guv) + 1.�2�
2 xuv ∈ V − D. g D,D ∪ {u}, D ∪ {v}

����û
G
����õ�ö���£ f û D, g ∀x ∈

D, pnGuv
(x, D) 6= ∅, ¥ pnG(x, D) 6= ∅

­(æ ä
8D
û

G
��m�n�õ�ö���£�{ g u, v

��� 62è
DÓê��³�õ�ö�¾ 62¹ %�û

u. g D ∪ {u}
û

G
����õ�ö���¾��

pnG(u, D ∪ {u}) = {u}. ��¨ û
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∀x ∈ D, pnGuv

(x, D) 6= ∅, ¥ pnG(x, D ∪ {u}) 6= ∅
­(æ ä

8D ∪ {u}
û

G
��m�n�õ�ö���£���¦

Γ(G) ≥ |D| = Γ(Guv) � Γ(G) ≥ |D ∪ {u}| = Γ(Guv) + 1.

(2)
%

S
û

G
���

Γ-
õ�ö���£

���
1 u, v ∈ S.

ì ¢
S

′

= S−{u, v}∪xuv

û
Guv

����õ�ö���£k­
∀x ∈ S, pnG(x, S) 6= ∅,

g ∀x ∈ S
′

, pnGuv
(x, S

′

) 6= ∅. ¨ ¡ S
′ û

Guv

��m�n�õ�ö���£
���

2 u ∈ S, v ∈ V − S.ç ���
1 v ∈ pnG(u, S).

ì ¢ f |pnG(u, S)| = 1.
@

S
′

= S−{u}
­

∀x ∈ S, pnG(x, S) 6= ∅.

g ∀x ∈ S
′

, pnGuv
(x, S

′

) 6= ∅. S
′ û

Guv

��m�n�õ�ö���£Å{ g |pnG(u, S)| ≥ 2,
@

S
′

= S−{u}∪

{xuv} g pnGuv
(xuv , S

′

) 6= ∅ . � ­ ∀x ∈ S, pnG(x, S) 6= ∅. g ∀x ∈ S − {u}, pnGuv
(x, S

′

) 6= ∅.

S
′ û

Guv

��m�n�õ�ö���£
ç ���

2 v /∈ pnG(u, S).
ì ¢ f |pnG(u, S)| = 1, g�� � pnG(u, S) = {u} � � pnG(u, S) =

{x}(x ∈ V − S), f û�î © @ S
′

= S − {u},
��l���¤

1
��à�é�ç

S
′ û

Guv

��m�n�õ�ö���£
f û2� ©2g @ S

′

= S − {u} ∪ {x},
��ä

S
′ û

Guv

�2m2n�õ�ö2��£ f |pnG(u, S)| ≥ 2,
@

pnG(u, S) ∩ (V − S)
Ì

G
Óê��ê�·�l���û

H , g i(H) = 1.
{ g�f i(H) ≥ 2,

Ø�%
|T | = i(H).

g |S−u∪T | = |S|+1, Ê S−u∪T
û

G
���éï

S ë ×���õ�ö���¾ì��l���¤ 1
��à ¸ é�ç

S−u∪Tû
G
��m�n�õ�ö���£¥ì��

S
û�o�×���m�n�õ�ö�� < ª�« £�% T = {x},

@
S

′

= S − {u} ∪ {x}.��ä
S

′ û
Guv

��m�n�õ�ö���£
���

3 v ∈ S, u ∈ V − S.
��î�à�p�q�§���£

���
4 u, v ∈ V − S.ç ���

1 u, v
!�û

S
Ó(������³���s�t�C�D�£¥ì ¢

S ¦ û Guv

��m�n�õ�ö���£
ç ���

2 u, v
!�û

S
Óê³���v�w�C�D�£¥ì ¢

S
Û ¦ û Guv

��m�n�õ�ö���£
ç ���

3 u
û

S
Ó(����³

x
��s�t�C�D�£

v
û

S
Óêñ�ò���³

y
��s�t�C�D�£ f x, y

�
s�t�C�D���N�÷�!�×�¯

2. g S ¦ û Guv

��m�n�õ�ö���£ f x, y
��s�t�C�D���N�÷�����û

1
ë

ñ���³���N�÷�×�¯
2.
6�¹ %

x
��s�t�C�D���N�÷�û

1. g S − {x}
û

Guv

��m�n�õ�ö���£
ç ���

4 v
û

S
Ó(����³

x
��s�t�C�D�£

u
û

S
Óêñ�ò���³

y
��s�t�C�D�£®­êþ 0 �£�l���¤

3S − {x}
û

Guv

��m�n�õ�ö�� � S
û

Guv

��m�n�õ�ö���£
ç ���

5 u
û

S
Ó(����³

x
��s�t�C�D�¾

v
û

S
Óêñ�ò���©�³���v�w�C�D�£ f x

��s�t
C�D���N�÷�û

1. g S −{x}
û

Guv

��m�n�õ�ö���£í{ g�f x
��s�t�C�D���N�÷�×�¯

1 g S ¦û
Guv

��m�n�õ�ö���£
ç ���

6 v
û

S
Ó(����³

x
��s�t�C�D�¾

u
û

S
Óêñ�ò���©�³���v�w�C�D�£¥­êþ 0 ��£l���¤

5S − {x}
û

Guv

��m�n�õ�ö�� � S
û

Guv

��m�n�õ�ö���£
­êÍ�à���çéèê�

Γ(Guv) ≥ |S| = Γ(G). � Γ(Guv) ≥ |S| − 1 = Γ(G) − 1
­

(1) Γ(Guv) ≤

Γ(G) . ¨ ¡ Γ(Guv) = Γ(G) − 1. � Γ(Guv) = Γ(G).
²�¢���ç�£

þ�¯��
G
������õ�ö�÷

i(G),G
��¹���þ�²�³�î���ï����

3 ð à���¼���£¥þ�¯ i(Guv), u��Ø2ä�×�¯
i(G),

Û���Ø2ä2n�¯
i(G),

�2¢ Û���Ø2ä2}�É�¯
i(G).

*2��þ�¯
i(Guv) < i(G),6 � ã �

i(Guv) = i(G) − 1,
þ2i2³��ÃÂñÄ�÷

n,
! ´ Ì�� G

Î2�
i(Guv) < i(G) − n.

�
ä þ�¯

i(Guv) > i(G),
6 � ã �

i(Guv) = i(G) + 1,
þ2i2³��ÃÂñÄ�÷

n,
Û ´ Ì�� G

Î2�
i(Guv) > i(G) + n. ò Ð�Ñ����%

G
û�¾

K1,n

´�¾
K1,m

��*�¾ � Ó V (K1,n) = {u, u1, · · · , un} E(K1,n) = {uu1, · · ·uun}.

V (K1,m) = {v, v1, · · · , vm} E(K1,m) = {vv1, vv2, · · · vvm}, � Ó m > n ≥ 2.
¸ ¥ i(G) =
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|{u, v}| = 2.
ù�Ê2 

G
��¹�²�³�þ

u, v1.
-

G
��¹

u, v1

���2��²�³�û
x. V (Guv1

) =

{x, u1, u2, · · · , un, v, v2, · · · , vm}. E(Guv1
) = {xu1, · · · , xun, vx, vv2, · · · , vvm},

¸ ¥ i(Guv1
) =

n + 1.
ì ¢

Guv1

������õ�ö�÷éï
G
������õ�ö�÷�ó�Ä�Þ

n − 1. � @ G
′

= Guv1
, g G

′

xv

û��
¾�£ ¨ ¡ i(G

′

xv) = 1.
ì ¢

G
′

xv

������õ�ö�÷éï
G

′ ������õ�ö�÷�Ï�Ð�Þ
n.Ä�ë�þ�¯�����÷

β(G) ô ��p�q�¯���� 3
������£

���
10
þ��

G,∀ u, v ∈ V (G)
�

(1) β(Guv) ≤ β(G).

(2) β(Guv) = β(G) � β(Guv) = β(G) − 1.���
(1)
%

S
û

Guv

�
β−
��£ g�� � xuv ∈ V (Guv) − S � � xuv ∈ S.

��à A ����§��£
1). xuv ∈ V (Guv) − S. g S ¦ Ä�û G

����������£ ¡�¢
β(Guv) = |S| ≤ β(G).

2). xuv ∈ S. f |pn(xuv , S)| = 1, g S − {xuv} ∪ {u} � S − {xuv} ∪ {v}
û

G
��������£

6�¹ %�û
S − {xuv} ∪ {u},

¡�¢
β(Guv) = |S − {xuv} ∪ {u}| ≤ β(G).

f |pn(xuv , S)| ≥ 2.
­

S
û

Guv

��o�×�������¾ g pn(xuv , S) − {xuv}
Ì

G
Óê��ê�·�l

�
H
������õ�ö�÷�û

1.
M

i(H) = 1.
{ g ¾ f i(H) ≥ 2,

Ø�%
|T | = i(H), � Ó T ⊂ H , g

|S − xuv ∪ T | ≥ |S| + 1, ¨ ¡ S − xuv ∪ T
û

Guv

���éï
S ë ×���������¾ ª�« £¥¯�� 6õ¹%

x
û

H
������õ�ö���£ g S − {xuv} ∪ {x}, S − {xuv} ∪ {x, u},S − {xuv} ∪ {x, v} ¬ ©�ö Ð���

G
��������£ f û�î © ¾ g β(G) ≥ |S − {xuv} ∪ {x}| = |S| = β(Guv); f û�� )�© ¾ g

β(G) ≥ |S − {xuv} ∪ {x, u}| = |S|+ 1 = β(Guv) + 1 > β(Guv) � β(G) ≥ |S − {xuv} ∪ {x, v}| =

|S| + 1 = β(Guv) + 1 > β(Guv).

(2)
6�¹ %

β(Guv) 6= β(G).
­

(1) ¥ β(Guv) ≤ β(G) − 1.
Ë

G
�

β-
�

S.
ì ¢�6 Ø�ä

�
u, v ∈ V − S,

{ g S ¦ û Guv

����������¾¥ì�à
β(Guv) ≥= |S| = β(G). ª�«���

1 u, v ∈ S,
@

S
′

= S − {u, v} ∪ xuv , g S
′ û

Guv

����������£
���

2 u ∈ S, v ∈ V − S,
@

S
′

= S − {u}, g S
′ û

Guv

����������£
���

3 v ∈ S, u ∈ V − S,
@

S
′

= S − {v}, g S
′ û

Guv

����������£
­êÍ�à��

β(Guv) ≥ |S
′

| = β(G) − 1. ��¨ β(Guv) ≤ β(G) − 1. ¨ ¡ β(Guv) = β(G) − 1.²�¢�·���£
�2�

11
þ��

G,u, v ∈ V (G), g β(Guv) = β(G) − 1.⇐⇒ ∀ β−
�

S
�

u, v ∈ S �
|{u, v} ∩ S| = |{u, v} ∩ (V − S)| = 1,

�
|pn({u, v} ∩ S, S)| = 1.�2� º2» ·

. f ∀ β−
�

S
�

u, v ∈ S � |{u, v} ∩ S| = |{u, v} ∩ (V − S)| = 1,
�

|pn({u, v} ∩ S, S)| = 1,
h

β(Guv) = β(G),
��¦ ´ Ì T ⊂ V (Guv)

û
Guv

�
β-
��Î��

|T | =

β(Guv) = β(G). g � xuv ∈ T � xuv ∈ V (Guv) − T .
��à�§���ì ) ¸�����£

1). xuv ∈ T . f uv /∈ E(G)
@

S = T − {xuv} ∪ {u, v}, g S
û

G
���2�2�2��£ ¨¡

β(G) ≥ |S| = |T | + 1 = β(Guv) + 1
� .2/2÷ % β(Guv) = β(G) ª2« £ f uv ∈ E(G),

@
S = T−{xuv}∪{u}, g S

��� ¾
|S| = |T |.

­ ÷ % g S
û

G
�

β-
� £øh ì ¢ �

{u, v} ⊆ pn(u, S),��¦
|pn(u, S)| ≥ 2.

ì��
|pn({u, v} ∩ S, S)| = |pn(u, S)| = 1 ª�« £

2). xuv ∈ V (Guv)−T , g u, v ∈ V (G)−T .
­ ÷ %�ì ¢ T ¦ Ä�û G

�
β-
��¾ ì��

u, v ∈ T

� |{u, v} ∩ T | = |{u, v} ∩ V − T | = 1
< ª�« £

¨ ¡ β(Guv) = β(G) − 1.
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µ�¶�·

. f β(Guv) = β(G) − 1.
%

S
û

G
���

β-
��£¥Ñ��

u, v ∈ S, g ²�¢�·���£ f 6��¾9�
|{u, v}∩S| = |{u, v}∩ (V −S)| = 1.

{ g � u, v ∈ V (G)−S.
ì ¢

S ¦ Ä�û Guv

�����
��£¥ì�à

β(Guv) ≥ |S| = β(G).
�

β(Guv) = β(G) − 1 ª�« £ ¨ ¡�6�¹ % u ∈ S, v ∈ V − S,
ì

¢ �
|pn(u, S)| = |{u}| = 1. f�� 6 Ä�¾ g |pn(u, S)| ≥ 2.

Ë
x ∈ pn(u, S),

h
x 6= u. f x 6= v,ì ¢

S − {u} ∪ {x}
û

Guv

��������£���¦
β(Guv) ≥ |S − {u} ∪ {x}| = |S| = β(G), ª�« £ f

x = v,
ì ¢

S − {u} ∪ {xuv}
û

Guv

��������£���¦
β(Guv) ≥ |S − {u} ∪ {xuv}| = |S| = β(G)

��ª�« £ ¨ ¡ Ô Í ��·���£± Í�����²�¢�·���£
��¼

2
�

G 0 û�����Å�Æ�����õ�ö���£ f ∀ u, v ∈ V (G),
�

β(Guv) = β(G) − 1.���
12
�

G
û�����Å�Æ�����õ�ö���£

⇐⇒
þ�i�³�³�þ

u, v ∈ V (G)
Î���þ

∀ β-
�

S

� � u, v ∈ S � |{u, v} ∩ S| = |{u, v} ∩ (V − S)| = 1,
�

|pn({u, v} ∩ S, S)| = 1.ù�ú û�ü���� -�����ý���§�¾�Û û�ü�þ�ÿ�� ¿�×�� ä ��������ê����2�������
	�£

�
�
�
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Domination Parameters and Vertex-Contraction-Critical Graphs

CHEN Yi-chao1, LIU Yu-xing2, SU Jian-ji3

(1. Dept. of Math., Beijing Jiaotong University, Beijing 100044, China;
2. Dept. of Math., Gannan Normal University, Ganzhou 341000, China;
3. Dept. of Math., Guangxi Normal University, Guilin 541004, China )

Abstract: Let G be a simple graph and u, v ∈ V (G). The graph Guv is called the vertex-contraction
of G, if we identify the vertices u and v and remove all resulting loops and duplicate edges. This paper
deals with the relationship of domination parameters between Guv and G, and gets γ(Guv) = γ(G) or
γ(Guv) = γ(G)− 1, Γ(Guv) = Γ(G) or Γ(Guv) = Γ(G)− 1, β(Guv) = β(G) or β(Guv) = β(G)− 1 . The
sufficient and necessary conditions for γ(Guv) = γ(G) − 1 and β(Guv) = β(G) − 1 are also obtained.

Key words: vertex-contraction; domination number; upper domination number; independent domina-
tion number; independence number.


